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1. This graph can be used to change between temperatures in Fahrenheit (°F) and

temperatures in Celsius (°C)
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In America they still use Fahrenheit in weather forecasts.

What temperature is 52 °F in °C ?
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2. This distance-time graph shows Scott’s journey to work.
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Scott arrives at work after 65 minutes.

How far does he travel to work?

............. miles
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3. This graph shows the height of a sycamore tree as it grows.
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What is the height of the sycamore tree when it is 21 years old?
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4. This distance-time graph shows Demi’s journey to work.
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The first 10 minutes of Demi’s journey is by bus.

How far does she travel by bus?
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Answers

1. 11
2. 37
3. 16

4. 6
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